Area and Volume
11.2 — Solids of Revolution Disc Method

Sketch the area bounded by the equations and revolve it
around tl§ ind the volume of the resulting solid.
Leave the arswers in terms of .
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Area and Volume

1.2 — Solids of Revolution Disc Method
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Area and Volume
11.2 — Solids of Revolution Disc Method

Sketch the area bounded by the equations and revolve it
around the y-axis. Find the volume of the resulting solid.
Leave the answers in terms of 7.
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11.2 — Sehds of Revolution Disc Method
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Area and Volume
11.2 — Solids of Revolution Disc Method

Sketch the area bounded by the equations and revolve it
around the given line. Find the volume of the resulting
solid. Leave the answers in terms of 7.
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Area and Volume

11.2 — Solids of Revolution Disc Method
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Area and Volume
11.2 — Solids of Revolution Disc Method

11.2 Solids of Revolution (Discs) Test Prep
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